Technical University of Denmark



Storm Control and Reliability Indexes of Offshore Wind Farms

Cutululis, Nicolaos Antonio

Publication date: 2009

Link back to DTU Orbit

Citation (APA):

Cutululis, N. A. (2009). Storm Control and Reliability Indexes of Offshore Wind Farms [Sound/Visual production (digital)]. 2nd Wind Energy Systems Workshop: Wind Power and Flexible Load Control in Systems with Large Scale Wind Power, Risø, Denmark, 28/10/2009

DTU Library Technical Information Center of Denmark

General rights

Copyright and moral rights for the publications made accessible in the public portal are retained by the authors and/or other copyright owners and it is a condition of accessing publications that users recognise and abide by the legal requirements associated with these rights.

• Users may download and print one copy of any publication from the public portal for the purpose of private study or research.

- You may not further distribute the material or use it for any profit-making activity or commercial gain
- You may freely distribute the URL identifying the publication in the public portal

If you believe that this document breaches copyright please contact us providing details, and we will remove access to the work immediately and investigate your claim.



Storm Control and Reliability Indexes of Offshore Wind Farms

Nicolaos A. Cutululis



Risø DTU National Laboratory for Sustainable Energy

Outline



- Wind power fluctuation model
- Storm control
- Simulation scenarios
- Simulation results
- Conclusions

Wind power fluctuation models





Wind turbine(s)

Wind farm

Power system area

Climate model resolution



Supplied by MaxPlank Germany 25 years of data 1 hour 50 km resolution



Climate model + stochastic model



Horns Rev example



Region wind power model - CorWind



DTU

Simulated wind speeds - smoothing



DTU

Storm Control





Hysterezis Storm Transition (HST)

8 Risø DTU, Technical University of Denmark

Storm Control





Soft Storm Transition (SST)

9 Risø DTU, Technical University of Denmark

Simulation cases





Simulation cases



Name	Symbol	Wind turbine power	Total power	Annual mean wind speed
Horns Rev	HR1	80 X 2.0 MW	160 MW	9.6 m/s*)
Horns Rev 2	HR2	91 X 2.3 MW	209 MW	10.4 m/s*)
Horns Rev A	HRA	40 X 5.0 MW	200 MW	$10.6 \text{ m/s}^{*)}$
Horns Rev B	HRB	40 X 5.0 MW	200 MW	10.5 m/s*)
Djursland Anholt O	DAO	40 X 5.0 MW	200 MW	9.0 m/s*)
Djursland Anholt P	DAP	40 X 5.0 MW	200 MW	9.0 m/s*)

*)the annual mean wind speeds are assumed, not measured

Simulated 5 years (1999 – 2003) with five different random seeds for the stochastic part – 25 annual wind power time series

- 1. Frequency and Duration of Occurrence
- 2. Lost Energy (capacity factor)
- 3. Ramp Rates and Reserves Requirements



1. Frequency and Duration of Occurrence

- 2. Lost Energy (capacity factor)
- 3. Ramp Rates and Reserves Requirements

Wind farm level







■ seed 1 = seed 2 = seed 3 = seed 4 = seed 5

Nr of Occurences

DAP

DTU

HR2

DTU

Wind farm level









DTU

H

DTU

Wind power region level







- 1. Frequency and Duration of Occurrence
- 2. Lost Energy (capacity factor)
- 3. Ramp Rates and Reserves Requirements





- 1. Frequency and Duration of Occurrence
- 2. Lost Energy (capacity factor)
- 3. Ramp Rates and Reserves Requirements

Ramp rates





$$P_{\text{ramp}}(n) = P_{\text{mean}}(n+1) - P_{\text{mean}}(n)$$

21 Risø DTU, Technical University of Denmark



Ramp rates







- 1. Frequency and Duration of Occurrence
- 2. Lost Energy (capacity factor)
- 3. Ramp Rates and Reserves Requirements

Reserve requirements





$$P_{\text{reserve}}(n) = P_{\text{mean}}(n) - P_{\text{min}}(n+1)$$

25 Risø DTU, Technical University of Denmark







Conclusions



- Offshore wind farms operational under extreme wind conditions reliability analysis is important
- Control strategies play a crucial role in increasing the reliability of offshore wind farms power production under extreme wind conditions
- Availability of wind power production at power region level can be improved by proper wind farm location selection